Nonlinear Systems of Equations, Gauss-Jordan [1-6]
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the Gauss-Jordan method
le + 3x2 — 2x3 - 3

2xy — 2x, + 4x3 = 18
—4x1 - 2x2 +X3 =

Normalize the first row by dividing it by the pivot element, 2, to yield;
1 1.5 —1 1.5]



Subtract 2 times the first row from the second row. (Reduction of the x1 term from the second row.)
2 -2 4 18]—-(2)[1 15 -1 15]=[0 -5 6 15]

Subtract -4 times the first row from the third row. (Reduction of the x1 term from the third row.)

[4 2 1 3]—(—4)[1 15 —1 15]=[0 8 —3 9]

Normalize the second row by dividing it by -5.

[0 1 —12 —3]

Subtract 8 times the second row from the third row. (Reduction of the x2 term from the third row.)
[0 8 —3 9]—-@®)[0 1 —12 -—-3]=[0 0 6.6 33]

Normalize the third row by dividing it by 6.6.

[0 0 1 5]

Subtract 1.5 times the second row from the first row. (Reduction of the x, term from the first row.)
1 15 -1 15]-(15[0 1 -12 -3]=[1 0 08 6]

Subtract 0.8 times the third row from the first row. (Reduction of the X3 term from the first row.)

[1 0 08 6]—-(08)[0 0 1 5]=[1 0 0 2]
Subtract -1.2 times the third row from the second row. (Reduction of the x3 term from the second row.)
0 1 —-12 -3]-(-1.2)0 0 1 5]=[0 1 0 3]




/

Then the augmented matrix is

1 O 0O 2
0 1 0 3_)x1=2 x2=3 x3=5
O O 1 5
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